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PAC JIS K 1475 6.0 8.5
PAS 6.0 8.5
PFC 4.0 11
PFS 4.0 11
AS | JIS K 1450,K1423 |6.0 8.5
AC 6.0 8.5
MIC 6.0 8.5
AA | JIS K 1472 6.0 8.5
KA | JIS K 1473 6.0 8.5
JIS K 1446 8 11
FS 4.0 11
FC | JIS K 1447 4.0 11
4.0 11
ZC | JIS K 1428 9 10.5
ZS 9 10.5
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(mm) (mm/s) (mm) (mm/s) (mm) (mm/s)
0.10 6.9 0.03 0.62 0.006 0.025
0.09 5.6 0.02 0.28 0.005 0.017
0.08 4.4 0.015 0.155 0.004 0.011
0.07 3.4 0.010 0.069 0.003 0.0062
0.06 2.5 0.009 0.056 0.002 0.0028
0.05 1.7 0.008 0.044 0.0015 0.00155
0.04 1.1 0.007 0.034 0.001 0.00069
1) 2.65
) 0.0131g/cm s(10 )
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2 0.8

2.5 1.2

3 1.7

4 2.9

5 4.3
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7 8.2

8 10.5

9 13.0

10 16.0

SS 98,300mg/L
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